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1. Aol Ak

2018¥Y = AlY

A 2ol Ak el

(Ehel + HJ)
o & o 20173 & 0l A1 (21 5) SINE

S R 3 o % | = o %
& | 6440165 100| 6467,318 100| A27,153 A0.4
A= 53,577 0.8 59,594 0.9 26,017 210.1
ol Xt % ¢ 43,145 0.7 38,400 0.6 4,745 12.4
soase | 740584 115 736,000 | 11.4 4,584 0.6
£ o 2| 5310000 82.4| 4758000 73.6| 552,000 11.6
Mololga | 250,000 3.9 471,531 7.3| ~221,531] ~47.0
0l B 4 o 42,859 0.7 403,793 6.2| ~360,934 £89.4
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=) A | 6,440,165 100| 6,467,318 100|  A27,153 A0.4
We e o | 1,386.880 21.5| 1.777.775 27.5| 390,895 A22.0
012401 S A

JHSMSS | 89.800 0.6 176,950 2.7| A137.150 A77.5
sotstAl2e | 1,399,780  21.8 027,330 | 14.3| 472,450  50.9
cEsAe | 593,000 9.2 555,050 8.6 38,150 6.9
Zs3 M@ | 3,000,800 46.6| 3,000,510 46.4 290 0.0
CRRTIY 19,705 0.3 29703 05|  £9,998 A33.7
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